EARAROBEEIERT — 2 N— IBISH —F 20125 7H148 (£) 2EH=R5H

(xwlw | lmEmml - |2 5 oom &

Ll 7R3 REFI (8] B

[A~&£] 1 7% 4,600,000 ~ 23 :1,800,000 . 337 :1,200,000 3 4 3 :690,000 " ~ 5 j&:460,000

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
K 4 3 | FIEEZ 2:02.5 2-2-3-4 |35.8| — 11 410 | ISR (EH)
1(7|14| AREAT R 54.0 — gy | (B) EvgLykT7—L
R ZF4d—I K B:v1x by TLT 1 ARXRETa—-T7—L4L
. # 3 | R 2:02.7 6-7-6-6 |35.9| — 10 | 468 |EFEA (RR)
2 7 '771'—9—71'\)[/7‘7/ 56.0 (1 1/2) +2) IEE—
R:w>Ny&>hTz B:TILZR Iipe]
“ o3 | X 2:02.7 8-8-8-8 [35.8| — 5 516 | fBOBLKRER (ER)
3 8 JIVILFIL b 56.0 (74%) (+4) BHESGTF
LT HTNEry b BIYRLT TV — 11455
S — 5 4 3 | EoESF 2:02.7 1-11-11-11{ 35.6 | — 8 438 | 3EllIFTEZ (RR)
4510 Nm=>T7 - 56.0 (1NF) o) |, 0B) HAEL—ZF-2
R:N—YI54 B:EXA-N-Z=>7 HET7—L
. # 3 | BR® 2:02.9 9-9-9-9 |359| — 3 444 | KREBZ (FBHR)
5012 | N*T1y b1— %55.0 (1 1/4) o) |BlEnE
it/ ISR B:zZa—942FK HEAHTT— L
DRI # 3 | dtRR— 2:03.0 9-9-9-9 [36.0| — 4 464 | HAEIEE (ER)
6 11 AN Z— 56.0 (1/2) (-4) | RARET
L:xF1=FGr—R BEAI =T 1 — () #A—KL—va>AET7 7
¢ 4 3 | BEERE 2:03.1 6-6-6-6 |36.3| — 7 504 | =8 (EH)
7 4 :I/\/f71)lu"( A53.0 (1/2) (-6) INREESR
LNy ALHATT BIKLy b Y+ H TS
=_ =5 4 3 | EDEEZ 2:03.6 2-2-2-2 | 37.1| — 12 460 | FHEE (ER)
8 15 AF—=J725> 56.0 (3) (0) wAE
LA M—3IGhR—b BULTT S H— BRI
5 RS 4 3 | ERH 2:03.7 11-12-13-13| 36.4 | — 6 472 | FHEE (FH)
o 12| *ATVIT KT 54.0 12 0 |IHEE
R:TITRAEXAL BELIUYTZ J—HrTr—LA
. # 3 | BEREA 2:03.9 13-13-14-14| 36.5 | — 15 | 480 |#HLUBA (R®)
10gys| AV - 212> 8.0 (1 178 (g |AHEE (1)
RZAZHT R B4 LRy T g5 Rg
SN - 4 3 | EBE 2:04.2 4-4-3-2 | 37.7| — 1 464 | EHET (BR)
1l 30— F1vAhz (B] 5.0 (1 3/4) 4o | ) B—Fx—2757
L:aZ/F¥LLy b BiLTAFv—L TATAT7— L
—s s o 4 3 | AEEN 2:04.2 15-15-17-17| 36.5 | — 16 | 442 |EHRE (FER)
1259 |7>AVFvL Y 54.0 (7€) (-p) | EHAESL
R:RINy RN TT BIRZAMATF v R %3 L AERE
_ . R _ R . 15-11— _ EE
13 6175 v o473 [B] L] g;% * 2.(0;1).9 15-15-11-11| 37.8 17 (454) ;E%;g@i)
RTwINEry b B v A P NLA Ez )
3 | FHEZ 2:05.0 4-4-5-4 |38.3| — 9 422 | BEFE (ER)
14/8|16| 727X F 453.0 ) Ca | NEOE—
RFA =TT~ Bz )—Y TALD4S
= 4 3 | FEEREH 2:05. 15-15-16-14| 37.7 | — 13 | 474 |JLHEA (BR)
15/ 8 (17| V=V AT 1 > F— 56.0 (»E) o |EEE=
R:HI5TLIF b BiILAC LY —F it dae]
= 5 o3 | BHF 2:07.2 1-1-1-1 | 40.8| — 14 | 492 |fNEEEEZ (RR)
16 11 794 A4 56.0 (24 4%) 0 RIEEZ
LT RIAYL—> B:TF1—Ib J—ZEIZXRZI A K
= # 3 | EEREEX 2:09.3 13-14-14-14| 41.8 | — 2 432 | REEX (ER)
17/7|13| ¥ -7 1 >~ KA 8.0 (519 Ly |EEAE
R:F4=TA2NT 8 BN —7V T J—=HrTp—L
@ 71 L
) 48.5-36.1
NA> 24 L | 12.5-11.0-13.0-12.9-12.6-12.0-12.4-12.0-11.9-12.2
@ 1—F—@&BIEf
13=7r= 1(14,15) (3,16) (4,7)8(2,11) (10,12) (5,13) (6,9,17)
Dol=5r= 1(14,15) (3,16)4,7-8(2,11)10,12,5,13(6,9,17)
Gal=7r= (x1,15) (14,3)16(4,7)8(2,11) (6,10)12(5,13)17,9
40—4— (¥1,15,3) (14,16) (4,7)8(2,11) (6,10)12(5,13,17)9
[ RN
B OB 14 5,670 714K 7-14 12,090MH e & 4-7 1,780 &R 7-8-14 195,590
1 B 14 1,350 8-14 4,920 B & 7-14 63,510M K31 14-7-8| 2,224,230
7 930H 7-8 3,350 B H 14-7 204,990
8 320H

ABICOVWTRDTEEERROODE. TR LIV,




